8§11.6 Absolute Convergence and The Ratio and Root test

Definition :

i Z a, Issaid to be absolute convergence (AC)
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if >'|a,| isconvergent.
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ii. If > a, isconvergent butnotAC,
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then Zan is called conditional convergence(CC).
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Theorem 1 :

AC = convergence (5 2. # ).

% Ratio and Root Tests(for AC)
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i. L<1=AC
ii. L >1= Divergence
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Example 2 :
Test AC, CC or Div.
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Example 3 :
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For which positive integers k is the series (n!
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Sterling Formula
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Example 1 :
°° |
Determine the convergence / divergence of the series Z 2(n) |
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Solution :

By using the Sterling formula, we have
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= The series diverges.
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